



County of Hernando  
Procurement Department  
Carla Rossiter-Smith, Chief Procurement Officer  
15470 Flight Path Drive, Brooksville, FL 34604

## REVISED EVALUATION TABULATION

ITB No. 25-C00948/CT

### HCUD Admin and Wiscon Facilities Improvements

RESPONSE DEADLINE: March 10, 2025 at 10:00 am

Report Generated: Friday, June 6, 2025

#### SELECTED VENDOR TOTALS

Vendor	Total	Revised Total
Goodwin Brothers Construction, Inc	\$5,547,391.78	\$4,963,914.27

#### HCUD ADMIN AND WISCON FACILITIES IMPROVEMENTS

HCUD ADMIN AND WISCON FACILITIES IMPROVEMENTS					Goodwin Brothers Construction, Inc				
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Bid Total	Negotiated Unit Cost	Negotiated Total	REF #
X	1	MOBILIZATION (SEE NOTES 1-3)	1	LS	\$268,750.00	\$268,750.00	\$266,250.00	\$266,250.00	101-1 and 101-2.1
<b>HCUD ADMINISTRATION PAVEMENT REHABILITATION AND ROOF GUTTERING SYSTEM</b>									
<b>GENERAL CONSTRUCTION OPERATIONS</b>									
X	2	MAINTENANCE OF TRAFFIC	1	LS	\$15,625.00	\$15,625.00	\$15,000.00	\$15,000.00	102-1
X	3	INLET PROTECTION SYSTEM	7	EA	\$343.75	\$2,406.25	\$330.00	\$2,310.00	104-18
<b>CLEARING CONSTRUCTION SITE</b>									
X	4	CLEARING AND GRUBBING	0.7	AC	\$15,179.00	\$10,625.30	\$14,572.00	\$10,200.40	110-1
X	5	REMOVAL OF EXISTING CONCRETE	20	SY	\$250.00	\$5,000.00	\$240.00	\$4,800.00	110-4
<b>BITUMINOUS TREATMENTS, SURFACE COURSES AND CONCRETE PAVEMENT</b>									
X	6	REINFORCED CEMENT CONCRETE PAVEMENT (7" THICK, AT DUMPSTER LOCATION)	15	SY	\$247.50	\$3,712.50	\$237.60	\$3,564.00	350-1

## REVISED EVALUATION TABULATION

ITB No. 25-C00948/CT

HCUD Admin and Wiscon Facilities Improvements

HCUD ADMIN AND WISCON FACILITIES IMPROVEMENTS					Goodwin Brothers Construction, Inc				
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Bid Total	Negotiated Unit Cost	Negotiated Total	REF #
X	7	PAVEMENT REPAIR (SEE NOTE 7)	2200	SY	\$139.16	\$306,152.00	\$12.32	\$27,104.00	--
X	8	1" ASPHALT OVERLAY (ENTIRE EXISTING PARKING LOT)	370	TN	\$195.64	\$72,386.80	\$186.53	\$69,016.10	--
<b>STRUCTURES</b>									
X	9	CONNECTION TO EXISTING STORM STRUCTURE	1	LS	\$7,273.41	\$7,273.41	\$6,899.37	\$6,899.37	425-1
X	10	FLARED END SECTION, CONCRETE, 8"	1	EA	\$692.79	\$692.79	\$671.43	\$671.43	430-200
X	11	8" HDPE ROOF DRAIN PIPE (DOWNSPOUT BOOT TO MANIFOLD PIPE)	70	LF	\$141.19	\$9,883.30	\$134.72	\$9,430.40	--
X	12	12" HDPE PIPE	260	LF	\$139.50	\$36,270.00	\$133.21	\$34,634.60	--
X	13	YARD DRAIN (12")	3	EA	\$1,927.42	\$5,782.26	\$1,852.76	\$5,558.28	--
X	14	DOWNSPOUT CONNECTION BOOTS	7	EA	\$2,052.19	\$14,365.33	\$1,970.53	\$13,793.71	--
<b>INCIDENTAL CONSTRUCTION</b>									
X	15	CONCRETE CURB, TYPE D	15	LF	\$195.43	\$2,931.45	\$187.68	\$2,815.20	520-2
X	16	CONCRETE SIDEWALK AND DRIVEWAYS, 4" THICK	15	SY	\$437.50	\$6,562.50	\$420.00	\$6,300.00	522-1
X	17	RIPRAP (RUBBLE)	1	TN	\$2,279.06	\$2,279.06	\$2,201.48	\$2,201.48	530-3
X	18	PERFORMANCE TURF, SOD	300	SY	\$13.75	\$4,125.00	\$13.20	\$3,960.00	570-12
X	19	TREE ROOT BARRIER	250	LF	\$118.75	\$29,687.50	\$114.00	\$28,500.00	--
X	20	ROOF GUTTERING SYSTEM	1	LS	\$35,152.42	\$35,152.42	\$33,748.76	\$33,748.76	--
<b>SIGNING, PAVEMENT MARKING AND LIGHTING</b>									
X	21	SIGNAGE AND PAVEMENT MARKINGS (STOP SIGNS, STOP BARS, PARKING STALLS)	1	LS	\$19,108.75	\$19,108.75	\$18,344.40	\$18,344.40	711
<b>HCUD OPERATIONS SITE IMPROVEMENTS</b>									
<b>GENERAL CONSTRUCTION OPERATIONS</b>									

## REVISED EVALUATION TABULATION

Invitation to Bid - HCUD Admin and Wiscon Facilities Improvements

## REVISED EVALUATION TABULATION

ITB No. 25-C00948/CT

HCUD Admin and Wiscon Facilities Improvements

HCUD ADMIN AND WISCON FACILITIES IMPROVEMENTS					Goodwin Brothers Construction, Inc				
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Bid Total	Negotiated Unit Cost	Negotiated Total	REF #
X	22	MAINTENANCE OF TRAFFIC	1	LS	\$9,375.00	\$9,375.00	\$1,500.00	\$1,500.00	102-1
X	23	SEDIMENT BARRIER (SILT FENCE)	4600	LF	\$3.44	\$15,824.00	\$3.30	\$15,180.00	104-10
X	24	SOIL TRACKING PREVENTION DEVICE	1	EA	\$8,125.00	\$8,125.00	\$7,800.00	\$7,800.00	104-15
X	25	INLET PROTECTION SYSTEM	10	EA	\$375.00	\$3,750.00	\$375.00	\$3,750.00	104-18
X	26	TREE PROTECTION BARRIER	3400	LF	\$4.38	\$14,892.00	\$4.20	\$14,280.00	--
X	27	WATER FOR DUST CONTROL (1,000 GALLONS)	10	TGAL	\$750.00	\$7,500.00	\$720.00	\$7,200.00	--
CLEARING CONSTRUCTION SITE									
X	28	CLEARING AND GRUBBING	7	AC	\$16,982.00	\$118,874.00	\$8,640.00	\$60,480.00	110-1
X	29	REMOVAL OF EXISTING CONCRETE	120	SY	\$94.00	\$11,280.00	\$90.00	\$10,800.00	110-4
EARTHWORK AND RELATED OPERATIONS									
X	30	REGULAR EXCAVATION	8500	CY	\$5.75	\$48,875.00	\$5.75	\$48,875.00	120-1
X	31	EMBANKMENT (SEE NOTE 4)	1500	CY	\$6.38	\$9,570.00	\$6.38	\$9,570.00	120-6
X	32	STABILIZATION	5500	SY	\$3.05	\$16,775.00	\$2.93	\$16,115.00	160
BASE COURSES									
X	33	FULL DEPTH ASPHALT RECLAMATION	10500	SY	\$5.35	\$56,175.00	\$5.35	\$56,175.00	269-1
X	34	OPTIONAL BASE, BASE GROUP 06	5500	SY	\$15.30	\$84,150.00	\$14.90	\$81,950.00	285-7
BITUMINOUS TREATMENTS, SURFACE COURSES AND CONCRETE PAVEMENT									
X	35	MILLING EXISTING ASPHALT PAVEMENT	14500	SY	\$4.33	\$62,785.00	\$4.14	\$60,030.00	327-7
X	36	SUPERPAVE ASPHALT CONCRETE	2300	TN	\$179.43	\$412,689.00	\$171.11	\$393,553.00	334-1
X	37	REINFORCED CEMENT CONCRETE PAVEMENT (7" THICK, AT TRAILER PARKING AND WASH DOWN AREAS)	800	SY	\$281.25	\$225,000.00	\$174.00	\$139,200.00	350-1

## REVISED EVALUATION TABULATION

Invitation to Bid - HCUD Admin and Wiscon Facilities Improvements

## REVISED EVALUATION TABULATION

ITB No. 25-C00948/CT

HCUD Admin and Wiscon Facilities Improvements

HCUD ADMIN AND WISCON FACILITIES IMPROVEMENTS					Goodwin Brothers Construction, Inc				
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Bid Total	Negotiated Unit Cost	Negotiated Total	REF #
<b>STRUCTURES</b>									
X	38	CONCRETE OVERFLOW WEIR	10	CY	\$1,070.00	\$10,700.00	\$1,010.08	\$10,100.80	400
X	39	INLETS, DT BOT, TYPE C, MODIFY	2	EA	\$5,935.91	\$11,871.82	\$5,636.77	\$11,273.54	425-1529
X	40	INLETS, DT BOT, TYPE F, <10'	3	EA	\$7,273.41	\$21,820.23	\$6,899.37	\$20,698.11	425-1561
X	41	PIPE CULVERT, OPTIONAL MATERIAL, ROUND, 15"CD	160	LF	\$125.10	\$20,016.00	\$120.00	\$19,200.00	430-175115
X	42	PIPE CULVERT, OPTIONAL MATERIAL, ROUND, 18"CD	200	LF	\$126.05	\$25,210.00	\$120.21	\$24,042.00	430-175118
X	43	PIPE CULVERT, OPTIONAL MATERIAL, ROUND, 24"CD	320	LF	\$145.40	\$46,528.00	\$138.65	\$44,368.00	430-175124
X	44	MITERED END SECTION, OPTIONAL ROUND, 15"CD	1	EA	\$1,819.29	\$1,819.29	\$1,754.79	\$1,754.79	430-982123
X	45	MITERED END SECTION, OPTIONAL ROUND, 18"CD	1	EA	\$1,970.85	\$1,970.85	\$1,901.35	\$1,901.35	430-982125
X	46	MITERED END SECTION, OPTIONAL ROUND, 24"CD	2	EA	\$2,148.97	\$4,297.94	\$2,074.47	\$4,148.94	430-982129
X	47	TRENCH DRAIN, STANDARD	50	LF	\$461.44	\$23,072.00	\$443.30	\$22,165.00	436-1
<b>INCIDENTAL CONSTRUCTION</b>									
X	48	CONCRETE CURB, TYPE D	350	LF	\$33.44	\$11,704.00	\$31.57	\$11,049.50	520-1
X	49	FLUSH CURB	270	LF	\$48.49	\$13,092.30	\$45.87	\$12,384.90	520-1
X	50	CONCRETE SIDEWALK AND DRIVEWAYS, 4" THICK	50	SY	\$202.50	\$10,125.00	\$194.40	\$9,720.00	522-1
X	51	CONCRETE SIDEWALK AND DRIVEWAYS, 6" THICK (BUILDING 5 AREA - SLAB AND APRONS)	400	SY	\$112.50	\$45,000.00	\$108.00	\$43,200.00	522-2
X	52	RIPRAP (RUBBLE)	15	TN	\$166.45	\$2,496.75	\$159.32	\$2,389.80	530-3

## REVISED EVALUATION TABULATION

Invitation to Bid - HCUD Admin and Wiscon Facilities Improvements

## REVISED EVALUATION TABULATION

ITB No. 25-C00948/CT

HCUD Admin and Wiscon Facilities Improvements

HCUD ADMIN AND WISCON FACILITIES IMPROVEMENTS					Goodwin Brothers Construction, Inc				
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Bid Total	Negotiated Unit Cost	Negotiated Total	REF #
X	53	FENCING, TYPE B, 6' STANDARD	200	LF	\$94.95	\$18,990.00	\$91.14	\$18,228.00	550-10220
X	54	FENCE GATE, TYPE B, SLIDE/CANTILEVER, 18.1-20' OPENING	2	EA	\$2,250.00	\$4,500.00	\$2,160.00	\$4,320.00	550-60233
X	55	PERFORMANCE TURF, SOD	15000	SY	\$2.94	\$44,100.00	\$2.82	\$42,300.00	570-12
X	56	METAL FRAME CANOPY (BUILDING 5 WASH DOWN AREA)	1	LS	\$51,927.42	\$51,927.42	\$91,852.76	\$91,852.76	--
X	57	TREE ROOT BARRIER	700	LF	\$118.75	\$83,125.00	\$114.00	\$79,800.00	--
X	58	LANDSCAPE COMPLETE (LARGE AND SMALL)	1	LS	\$68,358.00	\$68,358.00	\$60,000.00	\$60,000.00	580-1
X	59	LANDSCAPE IRRIGATION SYSTEM	1	LS	\$11,250.00	\$11,250.00	\$11,250.00	\$11,250.00	590-1
X	60	BUILDING 5 CARPORTS (3 TOTAL) REMOVE, STORE AND REINSTALL	1	LS	\$6,750.00	\$6,750.00	\$6,750.00	\$6,750.00	--
X	61	BUILDING 5 SHIPPING CONTAINERS (4 TOTAL) REMOVE, STORE AND REPLACE	1	LS	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00	--
SIGNING, PAVEMENT MARKING AND LIGHTING									
X	62	SIGNAGE AND PAVEMENT MARKINGS (STOP SIGNS, STOP BARS, PARKING STALLS)	1	LS	\$27,947.50	\$27,947.50	\$26,829.60	\$26,829.60	711
UTILITIES CONSTRUCTION									
X	63	SANITARY LIFT STATION LS-1 (MASTER)	1	LS	\$138,182.25	\$138,182.25	\$114,654.96	\$114,654.96	--
X	64	SANITARY LIFT STATION LS-2 (BUILDING 5)	1	LS	\$138,182.25	\$138,182.25	\$114,654.96	\$114,654.96	--
X	65	SAND AND OIL INTERCEPTOR	1	EA	\$21,185.66	\$21,185.66	\$16,800.00	\$16,800.00	--
X	66	UTILITY PIPE, GROUT FILL AND PLACE OUT OF SERVICE (SANITARY)	370	LF	\$47.69	\$17,645.30	\$45.78	\$16,938.60	1050-18003
X	67	UTILITY PIPE - POLY VINYL CHLORIDE, FURNISH & INSTALL, WATER/SEWER, 6" (SDR-26 SANITARY)	435	LF	\$35.41	\$15,403.35	\$34.00	\$14,790.00	1050-31206

## REVISED EVALUATION TABULATION

Invitation to Bid - HCUD Admin and Wiscon Facilities Improvements

## REVISED EVALUATION TABULATION

ITB No. 25-C00948/CT

HCUD Admin and Wiscon Facilities Improvements

HCUD ADMIN AND WISCON FACILITIES IMPROVEMENTS					Goodwin Brothers Construction, Inc				
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Bid Total	Negotiated Unit Cost	Negotiated Total	REF #
X	68	UTILITY PIPE - POLY VINYL CHLORIDE, FURNISH & INSTALL, WATER/SEWER, 8" (SDR-26 SANITARY)	400	LF	\$62.40	\$24,960.00	\$59.90	\$23,960.00	1050-31208
X	69	48" SANITARY MANHOLE	3	EA	\$13,317.28	\$39,951.84	\$12,784.58	\$38,353.74	--
X	70	UTILITY FITTINGS FOR PVC PIPE, FURNISH AND INSTALL, CLEANOUT 6"	3	EA	\$2,178.41	\$6,535.23	\$2,091.28	\$6,273.84	1055-31706
X	71	UTILITY PIPE - POLY VINYL CHLORIDE, FURNISH & INSTALL, WATER/SEWER, 2" (PVC SCH 80 FORCE MAIN)	730	LF	\$27.06	\$19,753.80	\$25.98	\$18,965.40	1050-31202
X	72	2" PVC SCH 80 RESTRAINED GASKETED BEND	6	EA	\$841.09	\$5,046.54	\$807.44	\$4,844.64	--
X	73	UTILITY PIPE - POLY VINYL CHLORIDE, FURNISH & INSTALL, WATER/SEWER, 4" (PVC C-900 FORCE MAIN)	1720	LF	\$70.98	\$122,085.60	\$68.14	\$117,200.80	1050-31204
X	74	UTILITY FIXTURE, MECHANICAL JOINT RESTRAINT, FURNISH AND INSTALL, 4"	4	EA	\$772.35	\$3,089.40	\$741.46	\$2,965.84	1080-29104
X	75	UTILITY FIXTURE, VALVE ASSEMBLY, FURNISH AND INSTALL, 4"	4	EA	\$2,620.66	\$10,482.64	\$2,515.84	\$10,063.36	1080-24104
X	76	UTILITY FIXTURE, VAC/AIR ASSEMBLY, FURNISH & INSTALL 4"	3	EA	\$30,339.98	\$91,019.94	\$29,126.38	\$87,379.14	1080-26104
X	77	CONNECTION TO EXISTING FORCE MAIN	1	LS	\$10,869.79	\$10,869.79	\$10,435.00	\$10,435.00	--
X	78	FIBER COMMUNICATIONS AND CONDUIT, COMPLETE	1	LS	\$53,939.11	\$53,939.11	\$30,822.00	\$30,822.00	--
X	79	ADJUSTMENT / RE-ROUTING OF LIGHT POLES, WIRES AND EQUIPMENT	±	LS	\$31,250.00	\$31,250.00	\$0.00	\$0.00	--
X	80	UNDERGROUND ELECTRICAL SERVICE (SERVING BUILDING 5)	1	LS	\$18,750.00	\$18,750.00	\$18,000.00	\$18,000.00	--
HCUD OPERATIONS SITE IMPROVEMENTS - FUEL ISLAND									

## REVISED EVALUATION TABULATION

Invitation to Bid - HCUD Admin and Wiscon Facilities Improvements

## REVISED EVALUATION TABULATION

ITB No. 25-C00948/CT

HCUD Admin and Wiscon Facilities Improvements

HCUD ADMIN AND WISCON FACILITIES IMPROVEMENTS					Goodwin Brothers Construction, Inc				
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Bid Total	Negotiated Unit Cost	Negotiated Total	REF #
GENERAL CONSTRUCTION OPERATIONS									
X	81	MAINTENANCE OF TRAFFIC	1	LS	\$15,625.00	\$15,625.00	\$2,400.00	\$2,400.00	102-1
X	82	SEDIMENT BARRIER (SILT FENCE)	700	LF	\$3.44	\$2,408.00	\$3.30	\$2,310.00	104-10
X	83	SOIL TRACKING PREVENTION DEVICE	1	EA	\$8,750.00	\$8,750.00	\$8,400.00	\$8,400.00	104-15
X	84	INLET PROTECTION SYSTEM	3	EA	\$375.00	\$1,125.00	\$375.00	\$1,125.00	104-18
CLEARING CONSTRUCTION SITE									
X	85	CLEARING AND GRUBBING	0.75	AC	\$10,625.00	\$7,968.75	\$10,200.00	\$7,650.00	110-1
X	86	TREE PROTECTION BARRIER	470	LF	\$3.44	\$1,616.80	\$3.30	\$1,551.00	110-21
EARTHWORK AND RELATED OPERATIONS									
X	87	REGULAR EXCAVATION	1700	CY	\$7.63	\$12,971.00	\$7.63	\$12,971.00	120-1
X	88	EMBANKMENT (SEE NOTE 4)	1700	CY	\$7.63	\$12,971.00	\$7.63	\$12,971.00	120-6
X	89	STABILIZATION	1600	SY	\$1.80	\$2,880.00	\$1.73	\$2,768.00	160-4
BASE COURSES									
X	90	OPTIONAL BASE, BASE GROUP 06	1600	SY	\$1.30	\$2,080.00	\$14.90	\$23,840.00	285-7
BITUMINOUS TREATMENTS, SURFACE COURSES AND CONCRETE PAVEMENT									
X	91	SUPERPAVE ASHALTIC CONC, TRAFFIC C	185	TN	\$20.40	\$3,774.00	\$342.37	\$63,338.45	334-1
X	92	REINFORCED CEMENT CONCRETE PAVEMENT, 7" (FOR LANES)	530	SY	\$180.00	\$95,400.00	\$144.00	\$76,320.00	350-4
X	93	REINFORCED CEMENT CONCRETE PAVEMENT, 12" (FOR GENERATOR PAD)	25	SY	\$157.50	\$3,937.50	\$151.20	\$3,780.00	350-4
STRUCTURES									
X	94	INLETS, CURB, TYPE J-4, <10'	1	EA	\$5,935.91	\$5,935.91	\$5,636.77	\$5,636.77	425-1441

## REVISED EVALUATION TABULATION

Invitation to Bid - HCUD Admin and Wiscon Facilities Improvements

## REVISED EVALUATION TABULATION

ITB No. 25-C00948/CT

HCUD Admin and Wiscon Facilities Improvements

HCUD ADMIN AND WISCON FACILITIES IMPROVEMENTS					Goodwin Brothers Construction, Inc				
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Bid Total	Negotiated Unit Cost	Negotiated Total	REF #
X	95	PIPE CULVERT, OPTIONAL MATERIAL, ROUND, 18"SD	210	LF	\$100.33	\$21,069.30	\$95.61	\$20,078.10	430-175118
<b>INCIDENTAL CONSTRUCTION</b>									
X	96	BOLLARDS	14	EA	\$1,500.00	\$21,000.00	\$1,440.00	\$20,160.00	519-78
X	97	CONCRETE CURB, TYPE D & TRANSITIONAL	715	LF	\$22.50	\$16,087.50	\$21.60	\$15,444.00	520-1
X	98	CONCRETE SIDEWALK AND DRIVEWAYS, 4" THICK	35	SY	\$157.50	\$5,512.50	\$151.20	\$5,292.00	522-2
X	99	CONCRETE SIDEWALK AND DRIVEWAYS, 6" THICK	10	SY	\$262.50	\$2,625.00	\$252.00	\$2,520.00	522-2
X	100	FENCING, TYPE B, 6' STANDARD	80	LF	\$100.00	\$8,000.00	\$96.00	\$7,680.00	550-10220
X	101	FENCE GATE, TYPE B, SLIDE/CANTILEVER, 24.1-30' OPENING	1	EA	\$1,625.00	\$1,625.00	\$1,560.00	\$1,560.00	550-60223
X	102	PERFORMANCE TURF, SOD	2000	SY	\$3.13	\$6,260.00	\$3.00	\$6,000.00	570-12
<b>SIGNING, PAVEMENT MARKING AND LIGHTING</b>									
X	103	SIGNAGE AND PAVEMENT MARKINGS (STOP SIGNS, STOP BARS, STRIPING)	1	LS	\$16,572.50	\$16,572.50	\$15,909.60	\$15,909.60	711
<b>UTILITIES CONSTRUCTION</b>									
X	104	WATER SERVICE CONNECTION AND CLEARANCE	1	LS	\$9,375.00	\$9,375.00	\$9,000.00	\$9,000.00	--
X	105	UTILITY PIPE- POLY VINYL CHLORIDE, FURNISH & INSTALL, WATER/SEWER, 2" (SCH 40 CASING)	110	LF	\$21.88	\$2,406.80	\$21.00	\$2,310.00	1050-31202
X	106	UTILITY PIPE- POLYETHYLENE, FURNISH & INSTALL, WATER/SEWER, 1"	150	LF	\$36.94	\$5,541.00	\$35.46	\$5,319.00	1050-41201
X	107	UTILITY PIPE- POLYETHYLENE, FURNISH & INSTALL, WATER/SEWER, 2"	10	LF	\$41.23	\$412.30	\$39.58	\$395.80	1050-41202
X	108	UTILITY FIXTURE, WATER METER, FURNISH & INSTALL, 5/8"	1	EA	\$7,425.00	\$7,425.00	\$7,128.00	\$7,128.00	--

## REVISED EVALUATION TABULATION

Invitation to Bid - HCUD Admin and Wiscon Facilities Improvements

## REVISED EVALUATION TABULATION

ITB No. 25-C00948/CT

HCUD Admin and Wiscon Facilities Improvements

HCUD ADMIN AND WISCON FACILITIES IMPROVEMENTS					Goodwin Brothers Construction, Inc				
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Bid Total	Negotiated Unit Cost	Negotiated Total	REF #
X	109	UTILITY FIXTURE, BACKFLOW ASSEMBLY, FURNISH & INSTALL, 1"	1	EA	\$7,925.00	\$7,925.00	\$0.00	\$0.00	1081-22102
X	110	UTILITY FIXTURE, HOSE BIB, FURNISH & INSTALL, 3/4"	2	EA	\$361.25	\$722.50	\$0.00	\$0.00	--
X	111	UTILITY FIXTURE, HOSE BIB ACCESS BOX, FURNISH & INSTALL	2	EA	\$700.00	\$1,400.00	\$0.00	\$0.00	--
X	112	FIRE HYDRANT, RELOCATE	1	EA	\$10,625.00	\$10,625.00	\$10,200.00	\$10,200.00	1644900
X	113	FIBER COMMUNICATIONS AND CONDUIT, COMPLETE	1	LS	\$11,625.00	\$11,625.00	\$11,160.00	\$11,160.00	--
SITE FURNISHINGS									
X	114	SITE FURNISHINGS (F&I) - UNLEADED FUEL TANK (WITH CONCRETE FOUNDATION)	1	EA	\$250,358.00	\$250,358.00	\$231,366.00	\$231,366.00	SF-1
X	115	SITE FURNISHINGS (F&I) - DIESEL FUEL TANK (WITH CONCRETE FOUNDATION)	1	EA	\$110,456.00	\$110,456.00	\$231,366.00	\$231,366.00	SF-2
X	116	SITE FURNISHINGS (F&I) - TWO-WAY FUEL DISPENSERS WITH E-STOP (FOR FUEL TANKS)	4	EA	\$38,584.00	\$154,336.00	\$39,792.00	\$159,168.00	SF-3
X	117	SITE FURNISHINGS (F&I) - 1,000 GALLON DEF TANK WITH DISPENSER	1	EA	\$124,783.00	\$124,783.00	\$13,762.15	\$13,762.15	SF-4
X	118	SITE FURNISHINGS (F&I) - CARD READER PEDESTALS	2	EA	\$55,000.00	\$110,000.00	\$38,805.52	\$77,611.04	SF-5
X	119	SITE FURNISHINGS (F&I) - FUEL ISLAND CANOPY	1	LS	\$234,733.00	\$234,733.00	\$435,205.06	\$435,205.06	SF-6
X	120	SITE FURNISHINGS (F&I) - HYSECURITY SLIDESMART HD25 GATE OPERATOR	3	EA	\$25,345.00	\$76,035.00	\$17,109.60	\$51,328.80	SF-7
X	121	SITE FURNISHINGS (F&I) - ELECTRICAL COMPLETE (CONDUIT, WIRING, CONTROL PANEL, LIGHTING, POLES, ETC.)	1	LS	\$495,875.00	\$495,875.00	\$330,000.00	\$330,000.00	SF-8

## REVISED EVALUATION TABULATION

Invitation to Bid - HCUD Admin and Wiscon Facilities Improvements

## REVISED EVALUATION TABULATION

ITB No. 25-C00948/CT

HCUD Admin and Wiscon Facilities Improvements

HCUD ADMIN AND WISCON FACILITIES IMPROVEMENTS					Goodwin Brothers Construction, Inc				
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Bid Total	Negotiated Unit Cost	Negotiated Total	REF #
X	122	SITE FURNISHINGS (F&I) - HIGH/LOW NUMERIC CONTROL KEY PAD AND KNOX BOX	1	LS	\$25,248.00	\$25,248.00	\$18,000.00	\$18,000.00	SF-9
Total						\$5,222,391.78		\$4,638,914.27	

## ALLOWANCE

ALLOWANCE					Goodwin Brothers Construction, Inc		
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	REF #
X	123	SITE FURNISHINGS (F&I) - DFS ANTENNA, COMPLETE (ALLOWANCE)	1	LS	\$325,000.00	\$325,000.00	SF-10
Total						\$325,000.00	